Solve the following sy enﬁ © quatlons |
1a 2 [ml] _ [0] /__;> _
0 p‘ T2 0 0 O O

42 = 0 o K= =2X,

o

O B
0 Yz ’4%ZM%
X, = 7 2 Xy

-

£, = Xy
X, 7 Y=2X.] [ -2
[01- T2 w[7]










€ E—— Same g‘/of-L
S/OP & AS Aoma_j

A\(‘; E §/op¢ oonn /yA_p(e/m/_S












1
i)

I 1
o O =
(OOL\DS’

1
-
I

>(( 427()_ 4'3>(3 - O
o = 9
= O
7“7 I —2¥, '3?‘37
L I
.x -~ )
> | ) X, S












A NON-homogeneous system of LINEAR equations
e —

=a.) Exactly one solution.

“?b.) Infinite number of solutions
——

-=x.) %}p solutions

A system of equations is Ax = b is homogeneous if b = 0.
A homogeneous system of LINEAR equations can have

a.) Exactly one solution (x = 0) A_ R— - O

b.) Infinite number of solutions ) f =0
(including, of course, x = 0). - G
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Solve the following systems of equations:
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Note that A(kﬁ— Sjr) = Ax + Ay and E)(_cx) = cAx

For example,
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